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(TON/M2) | (kaf) (MIN) Bz | 25 | @@ MM | 1/100 MM
21.78 | 1539.0 0 0.00 | 0.00 | 0.00
1 0.34 | 0.50 | 0.42 0.420 42.0
2 0.34 | 0.48 | 0.41 0.410 41.0
3 0.34 | 0.48 | 0.41 0.410 41.0
4 0.34 | 0.48 | 0.41 0.410 41.0
5 0.34 | 0.50 | 0.42 0.420 42.0
10 0.36 | 0.50 | 0.43 0.430 43.0
15 0.36 | 0.48 | 0.42 0.420 42.0
32.89 | 2324.0
1 0.48 | 0.62 | 055 0.550 55.0
2 0.48 | 062 | 055 0.550 55.0
3 0.46 | 0.60 | 0.53 0.530 53.0
4 0.48 | 0.60 | 0.54 0.540 54.0
5 0.48 | 0.62 | 055 0.550 55.0
10 0.48 | 0.60 | 0.54 0.540 54.0
15 0.48 | 0.60 | 0.54 0.540 54.0
48.20 | 3405.0
1 0.72 | 0.90 | 0.81 0.810 81.0
2 0.72 | 0.90 | 0.81 0.810 81.0
3 0.72 | 0.90 | 0.81 0.810 81.0
4 0.70 | 0.90 | 0.80 0.800 80.0
5 0.70 | 0.90 | 0.80 0.800 80.0
10 0.70 | 0.90 | 0.80 0.800 80.0
15 0.70 | 0.90 | 0.80 0.800 80.0
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(TON/M2) | (kaf) (MIN) s | 25 | =® @ MM | 1/100 MM
63.64 | 4496.0 1 1.04 | 124 | 114 | 1.140 114.0
2 1.04 | 1.24 | 114 | 1.140 114.0
3 1.04 | 124 | 114 | 1.140 114.0
4 1.06 | 1.24 | 1.15 | 1.150 115.0
5 1.06 | 1.24 | 1.15 | 1.150 115.0
10 1.06 | 1.24 | 115 | 1.150 115.0
15 1.06 | 1.24 | 1.15 | 1.150 115.0
78.00 | 5511.0
1 142 | 156 | 1.49 | 1.490 149.0
2 1.44 | 1.56 | 1.50 | 1.500 150.0
3 1.44 | 158 | 1.51 1.510 151.0
4 1.44 | 158 | 1.51 1.510 151.0
5 1.44 | 158 | 1.51 1.510 151.0
10 1.44 | 1.58 | 1.51 1.510 151.0
15 1.44 | 158 | 1.51 1.510 151.0
94.68 | 6689.0
1 192 | 1.98 | 195 | 1.950 195.0
2 192 | 1.98 | 1.95 | 1.950 195.0
3 192 | 200 | 1.96 | 1.960 196.0
4 194 | 1.98 | 1.96 | 1.960 196.0
5 194 | 1.98 | 1.96 | 1.960 196.0
10 1.94 | 1.98 | 1.96 | 1.960 196.0
15 1.94 | 200 | 197 | 1.970 197.0
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